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® Answer the four questions in Part A, in the space provided.
e Of the five questions in Part B answer three questions only.

Part A

A) A record of organisms identified in a field trip has forwarded by a group of students.
Given below are few organisms identified by them.

©)

..................................................... (1 mark)

...................................................................... e RIS S S 0 O @ U0 V-1 'q |

(1 mark)

(2 marks)

(1 mark)
(vi) Of the organisms given above, name the organism and its phylum with soft
Bodies and SriploDIRBLIG - o i tte- s feesssnmms sivsasss e ansbvhasncummsrossitfounitt oot st (2 marks)
(vii) Write the letter of the organism belonging to the phylum with highest number of species
I8 KA AR SR B vt seeiionmbtoncicnin crio s oo g T (2 marks)
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B. (i) Given below organells perform different functions in a cell. Write one function for each.
() TIHOSOME = & . it S it it teat vt s e R sl 0 L (1 marks)
(D) DREICUS = 1.0 1 e v s e R v bacsenses (1 marks)
(C) B0l DOdIOST e e i revanessuinson (1 marks)
(i) What is the organelle of the cell associated with respiration? ................cccoeoeverrerrieerene.. (1 mark)
(1if) Name the type of cell division which is important in producing new cells and healing wounds.
........................................................................................................................................ (1 mark)
(Total 15 marks)
02.A. Chemical compounds that build up living matter can be divided into two categories as organic
compounds and inorganic compounds.
(i) Of the bio molecules in the living body which one is considered important in storage of
genetic Information OFOTEANISINS 51w ittt st e R R e 5 (1 mark)
(i1) A group of students heated a certain food substance in a crucible and hold a glass sheet above the
crucible.
a) Name two chemical substances they can use to identify water in the food.
L e e e i s S e (2 marks)
b) Write an observation in the above experiment.
.............................................................................................................................. (1 mark)
(i1i) Write the specific property of water related with the transport of water to the upper part of the
PlA e e R i (1 mark)
(iv) What is the element responsible for deficiency diseases like cramps, nausea and diarrhoea?
.................................................................................................................................... (1 mark)
(v) Deficiency of which element in plants causes dying of tissues at the tips of leaves?
.................................................................................................................................... (1 mark)
(vi) What is the element responsible for the growth of intelligence in humans?
.................................................................................................................................... (1 mark)
B. Initiating rooting while it is still attached to the mother plant is known as layering.
(i) Name two types of layering.
oy St o R R ot R e s A O (2 marks)
(1R IS the mmportance Of JRYSTINED. . o it estisninasssssssinsasspuasonsensssammmastesensesesini ss (1 mark)
(iii) a) Grafting is an artificial propagating method. In this method, name the rooted part of the plant.
.................................................................................................................................... (1 mark)
b) Write a special property of this part of the plant ... (1 mark)
(iv) Which type of plant can used for grafting? .....cc...cuvveusioinneiisniiinnmmiricsensonssssesssssss (1 mark)
(v) What is the imporatance of cross pollination in plants? ... (1 mark)
(Total 15 marks)
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03. (A) Atomic numbers of nine consecutive elements in the periodic table are given in the table below.
Element A B C D E F G H I
Atomic number 11 12 13 14 15 16 17 18 19

Answer the questions using only the given symbols.
(1) Which element has the lowest first ionisation CTICTRY 7 o sasiesn oo nnts onstaacts Ont i it (1 mark)
(i1) Select the element that form oxide with highest acidity.

....................................................................................................................................... (1 mark)
(i) Write an observation, when element 'B' burns in air.
....................................................................................................................................... (1 mark)
(iv) Which element has the highest electronegativity?
......................................................................................................................................... (1 mark)
(B) Given below is a set up used to collect a certain gas in the laboratory.
PaEmt
cork lid
o
BiEe—r
beehive stand
() - Name thopatstlBuCandiDi. sepunn. o dtfinrtn omis oo ol
....................................................................................................................................... (2 marks)
(ii) Mention an error in the set b Sl GRS e e (1 mark)
(iii) What is the chemical compound added into ‘A" ... (1 mark)
(iv) The chemical compound mentioned in (iii) above and Zn reacts. Write the balance equation for
the BDOVE TEACtION. .covvvvvesrirnsrsnisssnseessse e smssemes s (2 marks)
(C) The electrons in the valence shell contributes when forming chemical bonds
(1) Draw the lewis dot and cross diagram of the chemical compound formed betw .
and hydrogen (H) cen nitrogen (N)
; : (2 marks)
(ii) In the above structure there is a pair of electrons without bonding .
What is the name given to this pair of electrons?
s B et S SRR (1 mark)
(i1i) Mention the type of bond/s of the following compounds.
(@) NH,CL oottt oo (1 mark)
(B) CgH 10 cnnirneririisnstssssnisissssi sttt soissessssssasesses oo (1 mark)
SmBo el qusiom ecortine®siqt - Obs qLeI @3E - 2023 (1014) -3- (Total 15 marks)
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O LAY A trabn that trnvels tn o hortzontal path starts from rest and takes 10 m o' velocity after 5 minutes

) ‘ L b g o renses and decrease
Phen i teavels i the snme veloity for another 15 minutes, (Velocity increases and decreases

unitormly)
(1 Draw i veloity time graph (o show the shove deseription

(3 marks)

(11) Caleulate the acceleration of the train within first 5 minutes,
T T O T T T L TR PO SR S N o b WO Sl Sl (2 marks)

(1)) What {u the time period an unbalunced force is not exerted?

REKBASME A (UL ERRO I O N e sss ) (s s aeneass v g eetstnan o el et tebets ro e o e (2 marks)
(1v) Caleulate the total distance truvelled by the train,

AL LU L L L P T T L LT e T L LT

L T L L LR R Lt T LTI

(2 marks)

R P I L L L]

(B) (1) At the moment the train starts 1o travel a passenger who was standing lost the balance and
fell in the forward direction,

What is the Newton's law which explaing this incident?
.nuu-nununnnuu-vnn.;..uu..u....,..u.......,......,...,.,,,,,,.,..,,,,...........,uu"-n-v-vn-uu"'""'“'"""""""" """"""" (l mrk)

(1) Calulate the momentum of o passenger with a mass of 60 kg when the train travels with uniform
veloeity,

e L T Ty

SRR AR AN o v s snssssi oy s Ay T BT PP st ben s saiivassagsrestonsiva (2 marks)

(€Y (1) Why doex foot bourd of train has rough surface?

nlnl"llil“lI'HIH‘"IIIHINHIAnul-uvuvuln'nlunnnluunuununu-|l-uuuuvnultnnunvnnu:nuunnnu ............................. (l ma. k)

(i) Write a disndvantage of the above phenomena you mentioned in (i) above.

e T T PR P e P R PR AT PP (ST IT PR TO NP (2 marks)

(‘Total 15 marks)
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Part B p

Answer only three questions from the questions 5, 6,7, 8 and 9
05, (A) At present gene engineering technoloty is used to develop efficiency of different fields.

(1) Write two inherited characteristics of man. (2 marks)

(b Name the first person who conducted scientific experiment on inheritance. (1 mark)
e mentioned person
(1 mark)

(2 marks)

(i) a)  Name the plant used for experiments on inheritance by the abov
in (11) above.
b)  Write two reasons for using above mentioned plant.

(B) Haemophilia is a sex linked inherited disease. (consider 'H' as dominant character and 'h' as

recessive character)

(1) Write the genotype of a carrier woman for haemophilia. (1 mark)
(i) Draw a punnet square to show offsprings when a carrier woman is married
to a healthy man. (2 marks)
(iil) Write an example for the application of gene technology. (1 mark)
(C) Flower is the part that sexual reproduction takes place.
R
(i) Name the parts P, Q, R and S. (2 marks)
(i) What will happen to the structure 'R" after fertilization ? (2 marks)
(1il) Write two importances of the dispersal of fruits and seeds. (2 marks)
(iv) a) Write the method of dispersal of fruits and seeds given below.
1. Coconut 2. Hora 3. Rubber (3 marks)
b) Write an adaptation for the dispersal of fruits and seeds in cashew plant (1 mark)

(Total 20 marks)
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06. (A) The following is a diagram of a set up which is used to identify factors affecting the rate of reaction
20°C 40 °C 60 °C 60 °C
acidified acidified
KMnO, KMnO,
solution solution
cleaned cleaned
iron iron
nails nails
A B C D
(1) What factors that affect the rate of reaction are tested here? (1 mark)
(i1) What is the factor that should be kept constant in all four tubes? (1 mark)
(1i1) Out of the factors mentioned in (i) above, mention the pair of tubes to test each factor. (1 mark)
(iv) Write the observation that is used to compare rate of reaction in this experiment. (1 mark)
(v) Write the decending order of rate of reaction in test tubes A, B, C and D (2 marks)
(vi) Suggest a method of keeping these four tubes at constant temperature during the experiment.
(2 marks)
(B) Two types of bonds in water are labelled as A and B.
8 A 5
Hﬁ A
. / ,:O
He % sH \Ha
*!s*\ / 5
e
(i) Name the bonds A and B. 8 (2 marks)
(ii) Write the specific property of water due to bond 'B". (1 mark)
(111) Write the reason for the formation of bond 'B'. (1 mark)
(iv) What is the number of water molecules in a mole of water? (1 mark)
(C) Given below is an incomplete part of a reactivity series.
KldiCa Mp ALPZ B3V PhilidtiHe Ag Pt Au
(i) Write elements from 1, 2, 3 and 4 respectively. (2 marks)
(iiy The method of extraction of a metal is decided according to its location in the
activity series. What is the method of extraction the element '1" industrially? (1 mark)
(iii) Out of the elements from 1 to 4 which element does not react with HCI? (1 mark)
(iv) When Mg and Ag metal stripes are added separately into two test tubes with
copper sulphate solutions which element reacts with the solution? (1 mark)
(v) Write 2 observations in (iv) above. (2 marks)
(Total 20 marks)
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07 (A1) Water is stored about 2 m height in a spherical shape water tank with 3.5 m radius.
(The density of water is 1000 kg m”, g = 10 m s2)

(a) Calculate the pressure exerted on the bottom of the tank. (2 marks)
(b) What is the force exerted on the bottom of the tank as a result of water pressure? (3 marks)
(¢) Calculate the upthrust of an object of 2 kg when it is floating fully immersed. (2 marks)
(d) Write the Archemede's law that explains 'c' (3 marks)
2Q
(B) ‘ ® ® AMAA___
6Q
MM—

——
3V

In the above circuit each bulb has 1Q resistance.

Answer the following questions using the above circuit.

() Calculate the equivalent resistance. (2 marks)
(ii) Find the current that flows through the bulb when the switch is closed. (2 marks)
(iii) If one bulb extingusihes what will happen to the other bulb? (2 marks)

(iv) Given below is a fixed resistor.

red green r1ed gilyer
N "4

red =2

green = 5
silver = 10%

a) Calculate the tolerance value of the above given resistor. (2 marks)
b)  Find the range of the resistance of the resistor. (2 marks)
(Total 20 marks)

08. (A)After implantation, foetal development occurs with the division of cells. Given below is a sketch
diagram of It.

(i) Name P, Q, R and S. (2 marks)

(1) Name the process takes place at ‘X' (1 mark)

(i) List separately hormones produced in female and male reproductive systems. (2 marks)

(B)(i) Write two types of autotropic nutrition. (2 marks)
(i) By which name is the ability to respond for the changes in the environmnet is known as?

(1 mark)

(i) Name a structure which is used for the exchange of gases in plants, (1 mark)

(iv) Which component of the air enters into the plant during photosynthesis? (1 mark)
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(1) Towards north and south direction, 30 N and 18 N forces are excerted rcpeCtiVC])’ on a trolley

which is kept on a table in the laboratory. Find the resultant force of the trolley and the direction
(2 marks)

(©) () Write two instances where couple of forces used in daily life. (2 marks) |
|

of the motion.

(iil1) (a) The diagram here, shows and instance where
8 N and weight W are applied on the two sides of arod, , «—50cm—>»>

«20cm—» () |

which is balanced. Calculate the weight W.
(3 marks)
8N W
(b) Calculate the W if the rod is balanced at its center.
(iv) The weight of a student is 250 N who is seated on a swing. Draw a sketch of a diagram to show
the forces acting on it if the child is at equilibrium on the swing.
(3 marks) 1
(Total 20 marks)
|
|
09. (A) A blast furnace is used for the extraction of iron. Reduction of haematite takes place in it. 1
(i) Write chemical formulas of other raw materials used other than haematite. (2 marks) |
(11) Calculate the molar mass of haematite. J:
(Fe =56,0 = 16) (2 marks) |
(ii1) Write two balanced equations for the forming of carbon dioxide during extraction of iron. {‘
(2 marks)
(iv)Mention the main by product and write down a use of it. (2 marks)

(v) Extraction of iron releases harmful gases to the environment. Mention a harmful gas and state a
harmful effect of that gas when it releases to the environment. (2 marks) 1

(B) An eagle of 5 kg, catches a fish of 1.5 kg coming from a 500 m height with a velocity of 3 m s™
(g-10ms?)

(i) Calculate the potential energy of the eagle before it catches the fish. (2 marks)
(i1) Calculate the kinetic energy of the eagle when it is flying with uniform velocity (2 marks)
(i) Find the kinetic energy of eagle if it travels with the same velocity after catching the fish.
(3 marks)
(iv) Draw a velocity-time graph for the falling of fish if the eagle loose the fish from its mouth into
water after flying to a height 100 m. (3 marks)

(Total 20 marks)
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